Trigonometry:  Using SOHCAHTOA to the magnitude of an angle








Date:______________________________

Recall from our last note that a right triangle is a triangle with one right angle inside of it (i.e., with one 90° angle inside of it).  When considering a right triangle, the trigonometric ratios are determined by the acronym SOHCAHTOA.
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Most people consider it a bit more difficult to find an angle using SOHCAHTOA than to find a side length.  This is because we have to use the inverse buttons on our calculator when trying to solve angles.  These inverse buttons look like this
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and they’re usually located above the regular sin, cos and tan buttons (you might have to press SHIFT and then the regular trig buttons).

1. Determine the magnitude of the indicated angle in each of the following (note to teacher: fill in theta values in one angle per triangle, mixing up the three trig ratios)
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